13000 GeV pp

tt
(\'l_l -3 _l I T I T | T I I I I |_ 9
% 10 — top el
0 — p (ATLAS semileptonic ttbar) 13
i ~ 0=
—_ B 1
fund) — |
5 N
_%10"4 = —3
— 1
3 — fgg‘ﬁe g
< \x“\ —
~“af” B R - 2
o B e 1®
T10° R m ATLAS —
o = £ Pythia 6M 8.350 -
o - k- Pyth|a6428 3‘5& 1T
> [ - ¥-. Pythia6.428 352" B %
N A~ Pythia 6.428 353 \‘??55%.;. <
10° £~ --o-- Pythia 6.428 354 N =3
— --+-- Pythia 6.428 355 \\@ - ;
I = Pythia 6.428 356 ) 1%
. Pythia 6.428 357 -5
107 Pythia 6.428 358 | <
= =~ Pythia 6.428 359 38
— Jwm
_ -2
| — O
(@]
- | | | | | | | | | 0=
2 = —2
" o .
< — —
| - ]
|<TZ B v ]
8 1 _w.-- - vy------=------=--=-"="="7°""7"7"""" - 1
o =5 S -_—_-_—_-_—_-_—_-._.—._.—._.-._.-ﬁ@ _|
6:6 B ""‘A ----- A-------mmmmmmmmmm————-——---o- A ]
0.5 —0.5
| 1 1 " 1 1 " | " 1 1 1 " 1 " |
0 500 1000

ptT'hacl [GeV], p

tbar{t

Vin [0,30] [GeV]



	Contents
	Page 1


